NCERT SOLUTIONS FOR CLASS 6 MATHS

Exercise 11.1

1. Find the rule which gives t i to make the following
matchsticks patterns.

(a) A pattern of

|




Solutions:

(a)

T

The pattern is 2n
(b)

The pattern is 5n
(f)




The pattern is 5n
(9

Total number of
=50b




5. The teacher distributes 5 pencils per students. Can you tell how many pencils are
needed, given the number of students? (Use s for the number of students.)

Solutions:
Let s be the number of students
Pencils given to each student =5

Total number of pencils = n ber of students

e distance by the birds




9. Mother has made laddus. She gives some laddus to guests and family members; still 5
laddus remain. If the number of laddus mother gave away is |, how many laddus did she
make?

Solutions:
Number of laddus mother gave = |

Remaining laddus = 5

Total number of ladd dus given away by m of laddus remaining




(@) (b)

Solutions:

(a) We may observe that i tchsticks are 4, 7, 10
and 13, which is 1




Solutions:

Side of a regular hexagon = |
Perimeter=1+1+1+1+1+1
= 6l

3. A cube is three dimensional figure as ig 1 It has six faces and all of them
are identical squares. The le by I. Find the formula for
the total length of the

& 4

Solutions:




Diameter = AB
=AC+CB
=r+r

=2r
Therefore, the diameter of the circle i

5. To find sum of thre

2. Which out of th

(a)y+3




(b) (7 x 20) — 8z
(c)5(21-7)+7x 2
(d)5

(e) 3x

(f) 5-5n

(9) (7 x 20) - (5% 10) —

Solutions:

(a) 7 added to p




(b) 7 subtracted from p
(c) p multiplied by 7

(d) p divided by 7

(e) 7 subtracted from —-m
(f) —p multiplied by 5

(g) —p divided by 5

(h) p multiplied

Solutions:

(b) 11 subtracted fr

(c) 5 times y to which 3 is a




d) 5 times y from which 3 is subtracted is (5y — 3)
e) y is multiplied by -8 is (-8y)
f) y is multiplied by -8 and then 5 is added to the result is (-8y + 5)

(
(
(
(

g) y is multiplied by 5 and the result is subtracted from 16 is (16 — 5y)
(h) y is multiplied by -5 and the result i

g step s, Beena
is 8 steps ahead an ind. ? The total number




of steps to the hill top is 10 less than 4 times what Meena has reached. Express the total
number of steps using s.

(e) A bus travels at v km per hour. It is going from Daspur to Beespur. After the bus has
travelled 5 hours, Beespur is still 20 km away. What is the distance from Daspur to
Beespur? Express it using v.

The step at which Lee which Meena is) — 7




=(s-7)

Total steps = 4 x (step at which Meena is) — 10
= (4s-10)

(e) Speed =v km/ hr

Distance travelled in 5 hours =5 x v

=5v km

Total distance ftr:

What will t

(c) Given n stu e foc ay ? n/2 show?

Solutions:




(a) (x — 2) represents the person whose age is (x — 2) years and he is 2 years younger to Munnu
(x + 4) represents the person whose age is (x + 4) years and he is 4 years elder than Munnu

(3x + 7) represents the person whose age is (3x + 7) years, elder to Munnu and his age is 7 years
more than the three times of the age of Munnu

(b) In Future
After n years since now, Sa
In past

n years ago,

1. State which of t ing are equations (with a variable). Gi for your answer.
Identify the variable fro ions wi iable




(@)17=x+17
(b) (t—7)>5
(c)a/2=2
(d)(7%x3)-19=8
() 5x4-8=2x
flx-2=0
(g) 2m < 30
(h)2n+1=

(m) An inequality equation




(n) No, it's a numerical equation

(o) An equation with variable x

2. Complete the entries in the third column of the table.

|
S.No Equation Value of variable Equation

satisfied
0




(p)

()
Solutions:
(a) 10y = 80
y = 10 is not a solution f
10y =10 x 10

=100 and

| =5is asolu
4 =4x5
=20




~ Equation satisfied

(@9b+5=9

b = 5 is not a solution for this equation because if b = 5,
b+5=5+5

=10 and not 9

(hyb+5=9

equation beca

=—8 and not

(mp+3=1

p = 3 is not a solution for th




p+3=3+3
=6 and not 1
(nNp+3=1

p = 1 is not a solution for this equation because if p = 1,

p+3=1+3

=4 and not 1

Solutions:

(a) 5m = 60




m = 12 is a solution for this equation because for m = 12,
5m=5x12

=60

-~ Equation satisfied

m = 10 is not a solution for this equ

5m =5x10

=50 and not 60

=12 and not
(c)p-5=5

p = 10 is a solution for this




-~ Equation satisfied

p = 0 is not a solution for this equation because for p = 0,
p-5=0-5
=-5and not 5

equation beca




-~ Equation satisfied

r = -4 is not a solution for this equation because for r = — 4,

r—-4=—-4-4

=-8and not0

r = 8 is not a solution for this equati
r-4=8-4

=4 andnot 0

r=0is not




(b) Complete the table and by inspection of the table, find the solution to the equation 5t =
35

st — - — — | = |[=

(c) Complete the table and fi 4 using the table.

r - .

p

3




7+10=17

8§+10=18

9+10=19

Now, by inspection onclude that m = 6 is the solution of the abo ation since, for m
= 6’

m+10 =6 =16

(b) Fo e table

) 4

Now, D pectio
7,
Bt=5x7-=

(c) For z/ 3, the tat spresented as be




Now, by inspe e may Co > above eg since for z =
12,

z/3=4




(d) For m — 7, the table is represented as below




Thrice the number o in the square =3 x4 =12
When 12 is added to the nu




KEHU&I’IQ@‘

So, the number will be the difference of 34 and 12
34-12=22

(i) The result was 23 when the old number was up counted on Sunday

The result was 22 when the old number was up counted on Saturday
The result was 21 when the old num

The result was 20 whe S up counte




